Find the angle measure for each letter.
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Find the angle measure for each letter.
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Find the values of x, y and z in each figure.
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2. Given the information in the sketch that follows, find the measure of all angles.

1. m<1= /359
m2= _ 4
3 m<3= Y8
4. m<a= _[32
5. mes= 48

6. m<6= L[ 2\
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6. If lines /and m are parallel, find the values of x A "
and y in the diagram to the right. - 4x + 18)
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b. Are lines a and b parallel? Explain your
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5. Given: 21 and 45 are Supplementary /
£1 and £4 are Supplementary !
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